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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Read the following statements carefully : 1
Statement 1 : The government may reduce the repo rate, to control

deflationary gap prevailing in the economy.

Statement 2: The government may reduce the deflationary gap, by
selling off government securities (G-Sec) in the open
market.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

EEE
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2. To arrive at the value of Gross Value Added at Factor Cost (GVAFC),
must be to/from Gross Value Added at
Market Price (GVA, ). (Choose the correct option to fill in the blanks) 1

(A)  depreciation, added
(B)  depreciation, subtracted
(C) Net Indirect Taxes, added

(D)  Net Indirect Taxes, subtracted

3. Read the following statements carefully :

Statement 1 : Public goods are those goods for which the payments are
made by all the entities in the country.

Statement 2 : Private goods are those goods which are provided by the
government of a country at subsidised rates.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

4, Under the Exchange Rate System, the Central Bank can

control the foreign exchange rate in a range bound manner.
(Choose the correct option to fill in the blank) 1
(A) Fixed
(B) Flexible
(C) Managed floating
(D) Gold standard
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5. Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below :

Assertion (A) : Direct taxes are imposed on income/profits of
individuals/companies.

Reason (R): The burden of payment of direct taxes cannot be shifted to
any other entity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

6. Under the Keynesian theory, ‘Reference Line’ is a straight line passing
through the origin drawn at an angle of

(Choose the correct option to fill in the blank) 1
(A)  25° (B) 40°
(C) 45° (D) 70°

7. Read the following statements carefully :
Statement 1 : Marginal Propensity to Consume (MPC) refers to the
consumption per unit of income.

Statement 2 : As the income increases, the proportionate increase in the
level of consumption is always more than the increase in
the level of income.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

8. The main objective of measuring the primary deficit is to highlight

present

(Choose the correct option to fill in the blank) 1
(A) fiscal imbalances (B) fiscal balances
(C) recovery of loans (D) cash grant-in-aid
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Read the following statements carefully :

Statement 1 : Import of heavy machinery from Japan is a source of

demand for foreign exchange.

Statement 2 : Financial aid by International Bank for Reconstruction

and Development (IBRD) for landslide in Wayanad
(Kerala) is a source of supply of foreign exchange.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

10. In a two-sector economy, the Aggregate Demand can be determined by

adding and .
(Choose the correct option to fill in the blanks) 1
(A)  consumption, investments (B) investments, savings
(C)  consumption, savings (D) savings, exports
11. (a) Explain any two precautions pertaining to the Expenditure Method

(b)

12. “Taxation is an effective tool to reduce the inequalities of income.”

of estimation of National Income in a country. 3
OR
On the basis of the following hypothetical data : 3

(in ¥ crore)

Year Nominal GDP | Nominal GDP (adjusted
to base year prices)

2020 — 21 3,000 5,000
2022 — 23 4,000 6,000

Calculate the percentage change in Real Gross Domestic Product
(GDP) in the year 2022 — 23 using 2020 — 21 as the base year.

Justify the given statement with valid reasons.
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13. (a) Elaborate any two components of the Capital Account under the

Balance of Payments Account. 4
OR
(b)  Distinguish between Autonomous transactions and
Accommodating transactions. 4
14. Assuming for a hypothetical economy : 4
(1) Autonomous Consumption Expenditure (¢ ) =% 250 crore

(i1)  Marginal Propensity to Save (MPS) = 0-2
(iii) Autonomous Investments (I)) = ¥ 200 crore

Estimate the Break-even level of Income and Equilibrium level of
Income, on the basis of information given above.

15. Read the following text carefully :

According to a report issued by a research organisation, there is a sharp
decline in the overall demand in the economy, particularly in the private
consumption segment. This dip in the macro economic variables,
highlights the urgent need for strategic actions to stimulate economic

activities.

On the basis of the given text and common understanding, explain the
measure which the government may take to solve the indicated problem. 4

16. (a) () Suppose there are only three firms in an imaginary economy,
viz. X, Y and Z. During a year, the following transactions
took place in the economy :

(D Firm X sold goods worth ¥ 20,000 to Firm Y and
712,000 to Firm Z.

(II)  Firm Y sold goods worth ¥ 11,000 to Firm X and
¥ 35,000 to Firm Z.

(III)  Firm Z sold goods worth ¥ 57,000 to households for
final consumption.

On the basis of the given transactions, calculate the value of
Gross Domestic Product at Market Price (GDPyp) in the
economy. 4
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(i1)

Elaborate the likely impact of construction of two new

Express Highways on the Gross Domestic Product (GDP)

and Welfare in an economy. 2
OR
(b)y (@) On the basis of the following data, estimate the value of
National Income (NNP) : 3
S.No. Items Amount
(in T crore)
(i) Household Consumption Expenditure 800
(i1)  |Gross Business Fixed Capital Formation 150
(iii) |Gross Residential Construction Investment 120
(iv) |Government Final Consumption Expenditure 270
(v)  |[Excess of Imports over Exports 20
(vi) |[Inventory Investments 50
(vii) |Gross Public Investments 130
(viii) |Net Indirect Taxes 20
(ix) |[Net Factor Income from Abroad (-) 25
(x)  |Consumption of Fixed Capital 40
(i1)  “All producer goods are essentially capital goods.”
Defend or refute the given statement, with the help of a
suitable example. 3
17. (a) Elaborate the process of Credit Creation using a suitable numerical
example. 4
(b)  Read the following text carefully :
“This function of money provides different items to be evaluated
against a common standard. It allows comparison of prices and
keeping financial records.”
(i) On the basis of the given text, identify the indicated function
of money. 1
(ii)  List any other two functions of money. 1
EEE
58/4/1 # 13| Page E’?ﬂ P.T.O.




LCLERC
TRAT e frerma

18.  THfctfad sreHl s earyesh sTera hIfe ;
FIT1: AR N o ATAETATHRT o fore forfeer Hifaat Er of |
FYT2 ;. AR & AUk f&di & fore, forfesr symeent 3 wwa it i g &
forerma Wt e hiesa feram |
feu 7w oMl o 31T |, FEfafgd § @ g2t foshed o1 <=a hifsig
(A) FIT 19T INFHIT 2 JATA ¢ |
(B) FIT1IEILIANFAT2TTE |
(C) FIT1FAR2T IR |
(D) U 1 AN 2 AT AAA & |

19. T=faRad oMt — 3THeT (A) 3 HRIT (R) T LTI HIfST |
Frar few 7w foreredt # O w2t faered o1 =9 Fifse -
A (A) : AW YStt | e § foaeryel fofr o % foe w=mr qgweul i
B InIES

FR (R) : ST 21 SITSTR & 31T &1 S8 (X187 qelT $aT6ed o o H G STH
& e T |

IEETR

(A) AR (A) IR FWOT (R) IHT 9T & A FHR (R), ANTRAT (A) il T
TR |

(B) AR (A) 3T HWT (R) IHT 9T &, TR FwROT (R), AR (A) i Tt
AT 2 |

(C) IR (A) T &, Wfehd 10T (R) 3T § |

(D) IR (A) 78T B, AfhT RO (R) I & |

20. UM T o, FFfeTRad § € hH-87 1947 3 IHTq WRA J qTieRear sl ifai &
GHTAT 1 3RTA 78T HaT 8 |
(A) el hma-Frator fif (B) @ shifd
(C)  3HTa Fiemd= (D)  THf3ra srefesraeen yomredt

58/4/1 # 14| Page E%%



SECTION B
Indian Economic Development

18. Read the following statements carefully :

Statement 1 : The British policies were accountable for commercialisation
of Indian agriculture.

Statement 2 : In the larger interest of Indians, the British rulers focused
on the infrastructural growth of India.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D)  Both Statements 1 and 2 are false.

19. Read the following statements — Assertion (A) and Reason (R).
Choose the correct alternative from the options given below :

Assertion (A) : Information plays a crucial role in judicious
decision-making about investing in human capital.

Reason (R): Individuals invest to acquire information about the labour
market and other areas such as education and healthcare.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

20. Identify, which of the following does not indicate the similarities in the

policies of India and Pakistan in the post 1947 period. 1
(A)  Dual pricing policy (B) Green revolution
(C)  Import substitution (D) Mixed economic system
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21. Identify, which of the following statements is incorrect about the Rural
Banking system in India. (Choose the correct option) 1
(A) In the post-independence period, a well-structured Rural Banking
system was formulated in India.
(B)  Rural Banking system in India consists of a set of multi-agency
institutions.
(C)  Regional Rural Banks, Cooperative and Land Development Banks
are few important components of Rural Banking system in India.
(D) Rural Banking system in India works under the guidance,
instruction and supervision of the State Bank of India.
22. In the post-independence era, the policy makers of India pushed for
‘self-reliance’ for the first Five Year Plans.
(Choose the correct option to fill in the blank) 1
A 8
B) 7
C) 6
(D) 5
23. Production of diverse varieties of crops rather than one specialized crop is
known as diversification of .
(Choose the correct option to fill in the blank) 1
(A) crops
(B)  agricultural production
(C)  sectoral composition
(D) employment
24. Identify, which of the following statements is incorrect about the
functions of environment. (Choose the correct option) 1
(A)  Provides resources
(B)  Absorbs wastage
(C)  Sustains life
(D)  Deteriorates quality of life
EEE
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25.  TFfcTRad ol ot eamgEeh 3Tega i :
FOA 1 ;AR WTE T, SIS A ! G o SUH o §9 H 118 o A1 T o9
ek AT TEAT § |
FI9 2  =IAqH R 4o (MSP), SR SN F9ehi o fedl sl 181 o fore faifa
IERIEIIE]
feu U oMl o 31T |, FREfafgd § 9 g2t foshed o1 <=a s
(A) YT 1T I FHIT 2 AT ¢ |
(B) 13T I FIT2 WAL |
(C) FIT1IAN2TN AR |
(D) YT 1323 A& |
26. WM SAINT o, Th Srefegaeer foMT forell St TSR o STa&’l H gfg o, Jrdfeh
Hohel BT 3c91E (GDP) H gfig i Rearfer st a1 2 |
arTeier ey |, U fewfd i Jfg FRT ST S |
(kT b1 gfd o foTq wielt forshed =1 == Hhferg)
(A)  ITHRTR
(B) MU=
(C) U=t
(D) USTR ford
27. ffafad Fuat — AfieRed (A) TR FRT (R) 1 AT IR |
i few e forereat 9 O w2t forehed st == ShifNe
I (A) : WIHS AT TS o e (ereh forfzm 4 e Fsit wail bl gfceqelf s
Y T o |
FRO(R) . T3sit &t 3 Scare ot T[ure o RIS Sfceaaicaendr H Ifg i &
ST ATSHE STH H HeweIqol € sfaiiq foham o |
IEET R
(A) 3P (A) 3R FROT (R) SHT T & 3R &R (R), ATHAT (A) FT &l
ML |
(B)  AMHAT (A) 3R RN (R) SHT T &, ATk HR0T (R), AMTHAT (A) T Tt
ARATTET 2 |
(C) AT (A) HcT &, Aok 0T (R) T # |
(D) TR (A) 39T, AR FROT (R) TT & |
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25. Read the following statements carefully : 1

Statement 1 : The Food Corporation of India maintains buffer stocks of
wheat and rice as a measure to improve market
mechanism.

Statement 2 : Minimum Support Price (MSP) is imposed by the
government to safeguard the interest of farmers.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

26. Suppose an economy is experiencing a situation of rise in Real Gross
Domestic Product (GDP), without any corresponding rise in the
employment opportunities.

In economic parlance, such a situation is termed as growth.

(Choose the correct option to fill in the blank) 1

(A) casual

(B)  informal

(C) formal

(D)  jobless

27. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative from the options given below :

Assertion (A) : Excessive regulation of permit license raj prevented
certain private firms from becoming more efficient.

Reason (R): Private sector wasted a significant time in obtaining
licenses rather than enhancing product quality and
international competitiveness.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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28. < gRT Y & H foT T SATfeler G sl AT I |
29. &) “farfosr smam & 3iarid, wRa @1 afkud oATfe ST FT AEAT AT e,
3O 1Y HETYH 9 €9 |t fsre gediaia fhe e o
fow T e 3T e TR g i i |
TeraT
(@) 1991 % GUW H WA TR R YT 15 T ifet T Heaier hIfST |
30. (F) ()  HWS IS ik ISt H S wE Al |
(i) T & § LPG’ 9 “NeR 1’ T 9o fashe I o & fore
YT 3l ST AT TWHITT o 9 | Fui i |
JTraT
@ () I YRG H gEW-8TE (micro-credit) FRFHI HT HTAHICHR
TR ST |
(i)  orui faehm & 31ef T et FifsrT |
31. TeU T T 1 AFYEe ST AT F FfTRad T o I AT :
et i € IhaiH STHEEAT o Uid-3 |, =4+ Tehdt g Hifa Tie <l off | 39 ifa
o 3FdTd FTAT (couples) il et Th &1 Hd YT LA hl STAAlT T 6l 7T off | 360
= = = Rl SHEEAT gie Sl AR e § gerdT s of |
T Afd % el g ff I 8, S TR gaT i ST e, T
ST HERAT o o SHRUT AT ST T Gt |1 o Tofq |t SHtfadt ST |
2015 ¥ 3@ Hfifc # giet &t 8, o @il At bt &1 wa AeT A Al Al e T8
off o7 2021 | 38 37 TTreT seh i EaTT deh R T TR 9T |
%ol THATR, Sferfer Gt M Aifd 3 Seean gig i HEhia s o 7o wrefies
A& T UTH TRAT T, W] S8 SIEIRIhI o |IHTISR T ol Tk STfeet a9 i
Sca— feraT fSrareht wmaT =i et S I @ R |
(&) = H Uhed Ga i o HATaI % g s qHes |
@) =T ke GaW A o SRt & fREt T SR T Seoid HIfNT |
58/4/1

E5E
# 20| Page %’%ﬁ



28. Elaborate the economic reforms in agriculture sector undertaken by

China. 3
29. (a) “Under the British rule, India underwent systematic economic
exploitation with its resources and wealth being diverted to
Britain.”
Justify the given statement with valid explanation. 3
OR
(b)  Appraise the Navratan policy adopted by the Government of India
in the reforms of 1991. 3
30. (a) (@) Distinguish between human capital and physical capital. 2
(i1)  Describe ‘LPG’ and ‘Gobar Gas’ as strategies used to achieve
sustainable development in rural areas. 2
OR

(b) () Critically appraise the micro-credit programmes in rural India. 3

(ii)  State the meaning of sustainable development. 1

31. Read the given text carefully and answer the following questions :

In response to the problem of rapidly rising population, China introduced
the ‘One Child Policy’. The policy restricted couples to having only one
child. This policy helped China to limit the population growth.

This policy led to significant consequences, such as an increase ageing
population, gender imbalances due to male child preference and social
challenges for single children, etc.

This policy was relaxed in 2015, allowing all couples to have two children
and further relaxed to three children in 2021.

Overall, while the One Child Policy achieved its primary goal of
controlling population growth, it also created a complex set of
demographic and social challenges that China continues to address
today.

(a) Explain the consequences of implementation of the One Child
Policy in China. 3

(b) State any one reason for the implementation of the One Child
Policy in China. 1
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32. U T 51, Ioi F foreqa e shifsi o fmforiaa s we & ar oo
() AT ATHIOT TG |, i fafarefientor swuehi il s THEATST o THTEIH o 9
T3
(@)  HRd H HRIEA o SHAHIHT § S0 o el o Hed USTTR G o i W/
fafi= arei A afg Fr 2|
33. (F) () AF GURI % SHH ARG GHN gRT {6 T T GURT o FHRO
g} o Ha | == I |
(i)  SguEa IR 7 f5-gafia AR & Haw Ty FHf |
rraT
@ () s giaemd Hifa, afe weur @ drp A o S, dr et o
e o foTe gl aerer wiferd €1 wehell 2 |7
1 A T T FUA W EWA & ? "I dehl g YA I AT Y
hITSIT |
(i) 1991 H YRd R R 33T T LTRIcARRT IURT T GL=HIcHT:
ST o HEA ST TE T |
34. TIIRad T 1 SaHee STeRH I :
AT 2H It G o SAThS| oh IR, ToTd ©: a1 H, YRART 2H TSR Gehdehl H
AT BT & | 2022 — 23 T USRI & = X 3-2% B TS & | FEaA § oAl 9
Higastl it arfier # gfg & Saifershia o <ifireh TIieT 1 AT 33 o STaER I
TC R | HFdl USTIR 3Tohe foriia o 2022 — 23 o wfeq fafmior & § 3=t i qwiid
€ 30k A1 2 TSR ¥ i 9 g o foear wftufera 2 |
forTa ater awt & EPFO o a3 oI YT & aTcd G ¥ 31fereh &1 e &, 5t fop
T TehTd o STI=Tieh USHIR o6 Hohd © |
TUTETYUT USHIR S L o I 1T Tl o FAIT SN-SEEahoT o S@vTet Srefeereet
% 2T TS forheq B |
feu T T T T I % IR R, FEferiRad et o s e
(F) WA FHRI | Sgdl g3 I o Higar WHfER 1 hig T Hew iy |
(@) R H TOEAel USTR G54 8] SRMSHS A4 S e gl a1 &t ot
TEEH T |
(M) 3YIh IETELT hl HERIAT § o SISHTR] o 37 sh foReqel samed shifsie |
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32.

33.

34.

State and elaborate whether the following statements are true/false, with
valid arguments :

(a) In the Indian rural landscape, agricultural diversification has
emerged as a solution for a lot of farmers’ problems.

(b) Informalisation of workforce in India, has increased various
concerns on the front of employment generation among the youth
of the country.

(a) () Discuss briefly, causes and consequences of tax reforms
taken by the Indian Government during economic reforms.

(ii)  Distinguish between Multilateral Trade and Bilateral Trade.

OR
(b) () “Import substitution policy, if not applied carefully, can
prove to be a double-edged sword for any economy.”

Do you agree with the given statement ? Justify your answer
with valid arguments.

(ii))  Distinguish between stabilising measures and structural
measures, as taken up by the Government of India in 1991.

Read the following text carefully :

Indian labour market indicators have improved in the last six years, as
per the Periodic Labour Force Survey Data. The unemployment rate has
fallen to 3-:2% in 2022 — 23. Rising youth and female participation in the
workforce present an opportunity to tap the demographic and gender
dividend. The factory employment data exhibits the bounce back of the
organised manufacturing sector in FY 2022 — 23 with rise in employment
and the upscaling of factories.

The net payroll additions under EPFO have more than doubled in the
past five years, signalling healthy growth in formal employment.

To generate and sustain quality employment, agro-processing and care
economy are two promising candidates.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any one significance of rising youth and female participation
in the Indian workforce.

(b)  Identify any two sectors which may be highlighted as promising for
generating quality employment in India.

(c)  Elaborate the meaning of disguised unemployment with the help of
a suitable example.
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